Seat No. / Enrolment No.:

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering — SEMESTER -4 (NEW) — EXAMINATION - Winter-2024

Subject Code: 4340603 Date: 28-11-2024
Subject Name: Estimating, Costing and Valuation
Time: 02:30 PM TO 05:00 PM Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Use of simple calculators and non-programmable scientific calculators are permitted
5. English version is authentic.

Marks
Q1 | (& | Enlist factors affecting Rate Analysis. 03
YALT | () | ¢{ld YRS UR WAR Scll URle{ollef] yLEl ool ld) °3
(b) | Explain use of green building material in Construction items. 04
©) | oitsiH w1 HHL Alet (esTol HERYUE il GUANILL dul, ¥
() | Derive rate analysis for Brick bat cement concrete in foundation 07

(B.B.C.C) (1:5:10).With explanation.

() | YlgIHi H2letl ASell [RNe2 Slesle(1:5:10) Hle ¢ld Yous1 L 5L AUyl A1, | ©9

OR

(©) | Derive rate analysis for 15 mm thick cement plaster in C.M. (1:3) .With | 07
explanation (for 100 m2)

(5) | 15mm (1:3 CM) %1SL Wl 514 HIS ¢ld Y253 5 qHYA] 41 09
Q2 | (@ | Explain principles of specification writing. 03
us2 | ) | (oY (ddRWl ol &gl qud) 03
(b) | Write detailed specification for 12 mm Th. Plastering work in C.M(1:4) 04

() | 92 mm 151 (1) C.M. UHIQIHI W22 SIH UL (ddldd IR [ [yl qull. | °F

(© | State the rules for deduction for (I) Cement Plaster and (I1) Brick masonry as per | 07

IS 1200
(%) | 1S 1200 WHIQ (1) RIAe2 W12 W (1) $2of URLARSIH HI2 SUld «il [¢dH) | ©9
quil.
OR
Q2 | (8 | State the types and purpose of specifications. 03
w2 | () | [q91¥ [AdR0lell UsIR] A dell &gl esalidl. °3
(b) | Write detailed specification for R.C.C. (1:1.5: 3) 04
@ | AR ALAL@ua3) UL ([daddiR (@l ([dg L qu). oY
©) | (1) Define (i)Estimate (ii)Contingencies (iii)Day work 07

(2) Give service unit for (i)Hotel (ii)Road
(3) Give measurement unit for (i) D.P.C. work (ii) cement

(8) | (L)culuAL WYL - (i) el (ii) Sseelowel Giii) S d5 09
(2) AldY Y[t2 dull :- (i) €led (ii)xd)




(3) HIuR{lell W51 Guil - (i) S Y5 S (i) ([

Q.3 | (@ | Calculate earthwork in excavation for foundation (Figure-1) 03
usl3 | ) | Yy Hidlell Wleusidedl 21eilell aQid?l s2U. (Figure-1) 03
(b) | Calculate quantities for Earth filling in plinth (Figure-1) 04
@) | ool 4 112l YAaleil 2AL0l{] A8ldI] 52\ (Figure-1) oY
© | Calculate quantities for (i) Brick masonry up to Plinth in C.M(1:6) and 07
(if) D.P.C.(1:2:4) work over plinth (Figure-1)
(8 | (1A el loes Yell 2 YRR 514 Wal 09
iyleel Aaq sllul..(1:2:4).5141] 2120l={l 231d?] $2\. (Figure-1)
OR
Q-3 | (@ | Calculate quantities for BBCC(1:4:8) Work for foundation (Figure-1) 03
Us3 | () | gldiqlell UldIHI BBCC)1:4:8( eil S1Hsil 212{lefl 2113 52U (Figure-1) 03
(b) | Calculate quantities for Plaster in ceiling in C.M.(1:3) (Figure-1) 04
() | C.M.(1:3)oll UHLIRIHI el % eUsi] 9l W22 SIHeAl 210l ARId] 2. | ©¥
(Figure-1)
(¢) | Calculate quantities for Brick masonry up to Slab portion (Figure-1) 07
(8) | Y R5UR AW Add) JHl) B2 YRR s1Meil 2AL{l+ll AId3] sA(Figure-1) | ©9
Q.4 | (8 | Determine quantity of CC (1:2:4) Work in beam. (Fig. — 02). 03
wsa | @) | ofly IR slesle (A¥:R) «il ald?l s (Fig. — 02). °3
(b) | Workout quantities of 6mm @ and 8mm @ steel reinforcement bar (Stirrups) for 04
R.C.C. Beam (Fig. — 02).
@ | ofly UL 6mm @ Wl 8mm @ «il 20 HI2etl Uoilalef] AL+ 52U (Fig. -02). oY
(©) | The details of road are as under: 07
CH [0 30 60 90 120 [ 150 [ 180 [210 [240 [270 [ 300
G.L [1055 | 1050 | 10.40 | 10.35 [ 10.20 | 10 [9.80 | 9.65 | 9.60 | 9.40 [ 9.20
The foundation level of road is 10m and the width is 7.50m.The side slop are
1;1(H:V) both in cutting and filling, Find (i) Quantity of cutting (ii) Quantity of
filling. By Mean-sectional area method.
(8 | ASeil [ddld) oflA Yoo & 00
CH [0 30 60 90 120 [ 150 [180 [210 [240 [270 [ 300
G.L [1055 [ 1050 [ 10.40 | 10.35 [ 10.20 |10 [9.80 | 9.65 | 9.60 | 9.40 [ 9.20
S s1H2lst Add 10m 8 dell 1S «fl USluls 7.50m B S «il wilogetl aloy
WISl dell YRARIME 1:1(H:V) 8 . AR AsAsUieil d &l (iywlstel s1H «il
U[R1 44 ([i)YRASL 514 <1l A AL
OR
Q.4 | (8 | Determine quantity of form work in beam. (Fig. — 02). 03
usta | ) | ofly 412 S1HAS ofl AQId3] 5. (Fig. — 02). 03
(b) | Workout quantities of 20mm @ straight bars and 16mm @ steel reinforcement 04
bar for R.C.C. Beam (Fig. — 02).
@ | ofly Y2 20mm @ Alell 24el 16mm @ o1l Aol Hietl Aeleted] 1Ll ¥
315l 520, (Fig. - 02).
(© 07

Calculate the quantity of earth work by Prismoidal formula for road section
having following data. Formation width 12m.




The formation R.L. at zero chainage is 79.70m and the road has upward slope of

10 cm in 30 m .Side slop for banking 2:1 (H:V) and for cutting 1;1(H:V).
Chainage | 0 30 60 90 120 150 180
(m)
G.L (m) |80.20 | 80.10 | 79.90 | 79.90 | 79.90 | 79.90 | 79.90

©)

o1 w0E] HilEdlotl 11813 Mr»HlBSE s1dlsll GUAldL 530 v4d
Lol 18 HI2 eI WILSIRL dedl YR1Rlell 112l s1M il AL Al QLe
A% GUR clls] Add 79.70m & dell 2Ll 2lU1 €2 30 m «il GulLEH 10
cm GURel d§ 8. WI%gell 2101 YRUQL HIS 2:1 (H:V) dell WISIQL HI
1:1(H:V) 8, e 2 lell dUIR 2R ol Ul 12m 8.

Chainage | 0 30 [60 |90 [120 [150 [180

m
EBI)_ (m) [80.20 [80.10 | 79.90 |79.90 | 79.90 |79.90 | 79.90

09

Q5

(@)

A person purchased a building for Rs. 12,00,000 having land cost of Rs. 2,
50,000. If life of building is 35 years and rate of interest is 8 %. Find the annual
installment of sinking fund. Assume scrap value as 10% of the construction cost.

03

UBL5

)

W5 (5 09 .2,00,000-/ Ui HSlel WY &q. Beil et ol [(EHd e
R,U0,000 &dil. %] Uslolo] WI1YRL 3U AN W (el €2 ¢% Sl dl Aleslal
§5o L5 [UHlAH 21H). BUARY So4521el (FHd oil 0% HIR).

o3

(b)

Enlist different types of values end explain any one.

04

(“)

ARUed| USIR QUL Aol 518 35 YHowld)

oY

©

From the following details decide value of the cinema theatre building.
(i) Present land cost = 2,50,000

(ii) future life of building = 15 year

(iii) use at full capacity = 60%

(iv) there are 4 shows everyday

(v) income of each show at full capacity = 6500

(vi)Total usual outgoings = 60% of gross income

(vii) Rate of interest 10% on capital and 7% on redemption of capital

07

©)

ol |As{] (cdlcdell A LEIR RAaAHL (82201l HSlotsl Y& o155 2.

(i) Hlstefl sleefl (BUd = 2, Uo,000

(i) e Sclo] @Llc YR = U dN

(i) AL (22241 59 &HARA dURIQL = £0%

(iv)eR1% ¥ W slU 8.

(v)AYLL &Mdlell £3s Wdsfl 59 A1ds = LYoo

(vi) (1oL IH] W) 56 idsell ©0%

(Vii)4SIR1518le1l dUldR HI2 AR 10% ol YSIRASIRLeA] Y5 Hie cules
£ 9% 8.

09

OR

Q5

(@)

A loan amount of Rs 900000/- is to be repaid by 20 equal installments. Rate of
interest is 8%. Calculate annual installment of loan.

03

V&5

()

2[UY[ 00000 of| Aol clY UL ALNS SHIHI HULES Sclef]l . clogeil
2 ¢ .0 %aAlNs SHlell 254 2014,

03




(b)

Define (i) Depreciation (ii)Sinking fund (iii)Outgoings (iv) Year’s Purchase

04

(“)

Rl [ul] AU (i) MdHEel (ji)flos1L 55 (i) Aot H] WA (iv)dlNs dod

oY

©

A newly constructed building stands on a plot costing Rs.3, 00,000.The
construction cost of the building is Rs.9, 00,000 and the estimated life of
building is 65 years. The investor desire 18% return on the construction cost and
9% return on the land cost. Assuming annual repairs at 0.8% the cost of
construction and the other outgoings at 20% of gross rent. Calculate the annual
rent that will have to be charged for the building. The sinking fund instaliment
per annum Rs. 4000.

07

©)

A5 olq USlel Rs.3, 00,000 il [SHdell Wle GU BHG B HSletef] titsIH
(54d Rs.9, 00,000 & ¥al vielR)d AIYRL 65 AN B ASIQASIR WidsiH (GHd
UR 18% dOldR 68 8 el %Hlelsfl (BHd U2 9% dndR 6 B.dlls
HAHA W olitsiH (BUdell 0.8% dell wiod WAR §6 LSlell 20% @4l
Hslote] dlNs 1S o155] 53, Hle51ol §5eil dls sH) Rs. 4000 €.

09
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SECTION A-A | e ' SECTION B-B
''SECTION C~C
REFERENCES:— NOTES:~

A=20mm ¢ STRAIGHT
B=16mm ¢ BENT UP BAR 2NO

C=16mm ¢ BENT UP BAR 2NOS.
D=12mm ¢ ANCHOR BAR 2NOS.
E=10mm ¢ STIRRUPS 10cm c/¢
F=Bmm ¢ STIRRUPS @ 15¢cm c/c @
G=6mm ¢ STIRRUPS @ 21cm c/c ©
H=20mm ¢ PINS @ 21cm c/c @

BAR 3NOS. © 2.5 kg/mt.

/mt.

0 1.6 kg/mt.
0 0.89 kg/mt.
© 0.62 kg/mt.

0.40 kg/mt.
0.22 kg/mt.

0.25 kg/mt.
‘V

Figure.-2

DIM SIONS ARE IN CM EXCEPT SHOWN
NOT TO [SCALE THIS DRG.
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